Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-I/11 ‘EXAMINATION-SUMMER - 2017

Subject Code: 3310101 Date: 05 - 06 -2017
Subject Name: Applied Physics
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €2HIl SlEURL Alclotl scllol WL
State formula to find out least count of Vernier caliper.
clolar 3(Auloll Ay MU sl ucllo] Yol AU
Define newton’s 3" law of motion.

oj2atoll alldeall Al Aan Awl.

Define cohesive force and adhesive force

clluAL:AAGA U A B2 oloy

Define: 1 kilocalorie.

cqlul: 1 (A3

State superposition principle.

Aulduelal Rgid cwl.

Define Snell’s law.

clluRil: WAl [

State two application of nanotechnology.

Aol sollcdlell A GUAI([ARA Al

State full form of LASER

QAR Y3 ot AW,

State two example of surface tension.

Yo lllloll A GELSWL AW,

Give Sl unit of following physical quantities. (1) work (2) power
WAAE. AsH Avll: (1) stal (R) sl
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Draw neat and clean diagram of Vernier caliper.
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OR
Draw neat and clean diagram of micrometer screw gauge.

WS Hl2R g Aol sttt REAstatoll 2t 2gld €1

If one object contains mass of 12 kg and force applied on it is 24 N then what

will be acceleration?
ol 565 Uello] €01 AR (59Ul 8lal Wl Aol UR ¥ ojeela] GOl ALIL]

Sl Al A uetelell yaol 2l
OR

Two forces F1 and F acts on an object of mass 0.2 kg such that the forces are

along the same axis but opposite direction. Determine the acceleration of the
object if F1= 8N and F>=6N. Assume that object is on a frictionless surface
and can move only along X-axis.

0.2 kg scHlot URlddl drg UR Fi ol Fp Glol AHlet U3l UR U
(A2 (RHl HUR 52 B. % F1= 8N Aol F,=6N &lad ll clreell YAdL
A, RS Ueld dradlol Y U B ual A X- ulel [Rauni o
alld 3l 23 B.

Explain positive error of Vernier caliper and micrometer screw gauge.
clolaR 3Au ua wesslHleR g Aol Ut & uneAl.

OR
In an experiment of simple pendulum the time period of pendulum is 2.32 s,
2.31s,2.33s, 2.30 s and 2.31 sec then find out percentage error in time
period of simple pendulum.

ALEL AASl YAUHL AAS Alaldslon .32 A, 2.3 A, .33 A,
230 A UA .31 A D Al AAsell ladstaml yldad R 0.

Prove for uniformly accelerated motion v = u+at and d = ut + %at2
(d= displacement, v=final velocity, u=initial velocity, a= acceleration and t = time)
[RaBd yaoll o =2 v = u+at wel d = ut + Sat? wld s,
(Ul d= eUletidR, v= (A 2L, u= YR@s AL, a= YAdL and t = AH)

OR
Define and explain law of conservation of momentum.

AoHLel ARl (Ao AVl Mol GEleRWQL AL UHsLAl.

There is a tube lying in a horizontal plane having a diameter of 2 cm, water
flows in a tube at the rate 10 cm/s. If viscosity of water is 0.01 CGS unit and
density of water is 1 CGS unit. Calculate Reynolds number.
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2 cm ol eyouiell 10 cmis ot €2 Wl aé 8. ol wellell
RatUAL 0.01 CGS unit &2l dal WRllell tiotdl 1 CGS unit &lat Al

Rallcs s Wl

OR
Water rises up to 2.8 cm in a capillary tube of radius 0.052 cm immersed
vertically in water then find out surface tension of water. (g = 980 cm/s?)
0.0u? AHL Aol Faetolla wellit Gra gottsdl wall

Satatollit 2.¢ AL GuR U3 B A Wl Yescgl 0. (g =980
AHLRY

State effect of temperature and impurity on surface tension with example.
dAludlot el Aol Yool GUR AR Gele1L UL v,

OR
Explain Reynold’s number.

RaCS Wi AHastal,
Define conduction, convection and radiation with example.

GuHlasol, GiHlot2Aol el G¥HIHoto{l caulull Bels0L AUl AW,

OR
Explain law of thermal conductivity.

Gl cdelisell (M UMl
Define strain and explain its types.
(@s(Qoll cottuall vl A Aol YSIR UHSLAL.

OR
Define Hooke’s law and explain its moduli.

g5l (Aan cull el dell RA[RAUUSUS AnA.

State difference between longitudinal and transverse wave.
AUl A3 Aol AGOLA dRdl cARAall dslelcd Al

OR
Calculate wavelength of sound wave whose frequency is 440 Hz and its
velocity in air is 330 m/s.

¥¥0 83 wlg(d Wl salHi 330 Hl/A oll QoL YRl telldl dR0le{l

QERICTATIRENN
Explain dispersion of light by prism with neat and clean diagram.
29 AlglA €131 Qs el yslele [Qeuesst AHsicl.

OR
Explain spontaneous and stimulated emission of LASER.
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AUR dAcetlQls U Galic Gl AU
Explain factor affecting reverberation time and acoustics of building.
YAy AHaA AR ASRE U W§ (AR WA 5l URGLAL

Al
State properties and applications of LASER.

AuRell QUM A GUAN AW,

A steel rod has radius R = 9.5 X10° m and length L= 0.81m. A 62 KN force
F stretches it along its length. What are the stress on the rod and strain of the
road? (Given Young’s modulus for steel = 2 X 101*N/m?)

9.5 X103 m (g2l R el 0.81m AulleS uRlclcll ¥lcatl Al UR 62
KN of oll F doltgell Zauni wala Glell 52 8. %l 200l Hlsyd ¥l
HE2 2 X 10MN/m2 8l dl Alda uR usdl yldoton ual uldiaell
(@slQ 20¢.

Draw neat and clean diagram of He-Ne LASER.

He-Ne QRell otid AE2atatofl 2 ausld €13
Explain construction of optical fiber.
AR5 slFeiRe{l Ull AHAL
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